y" +y=tanx. [104 5 E AP 1]

[f#]A*+1=0 = A==i = yn(x) = Cicosx+ Casinx
% yp(X) =U1cosX + U2sinX = Yp' = (—U1sinX + U2cosX) + (U1'cosX + U2'sinx)
> U1'cosX + U2'SInX = Qreveeveeeees @)
yp” = (-U1cosx — UzsinX) + (=U1'sinX + Uz2'cosx) » X AJH =L

[(—U1cosX — UzsinX) + (—U1'sinX + U2'cosX)] + (UicosX + U2sinX) = tanX

—U1'sinX + U2'cosX =tanx: -+ (i1)
OGS

0 sinX
ur’ :tanx—cosx =—sinX tanx

W(cos X,sin x)

ur =J —sinx tanx dx = tanx dcosx = cosx tanx — | cosx sec?x dx = sinx — In|secx + tanx|
cos X 0

—sinX tanX

u2' = =sinX = Uz =] sinx dx =—cosx

- W(cos X,sin x)
Y(X) =Yn(X) +yp(X) = Cicosx + CasinX + (sinX — In| secX + tanX | )cosX + (— cosX) sinx
=(Ci1—In| secx + tanx | )cosx + Casinx



